
REMARKS

Conductor: The time signatures that appear in the score don't indicate any metrical accent. The whole work is to be 
played without metrical accents. Synchronization among orchestra players is important; however, in very dense musical
passages some flexibility is allowed providing that the players begin and end their phrases precisely as it is written.

Electronic music: The tape player should follow the conductor reading the music score and starting the different
enumerated audio parts as it is notated.

Strings: The whole piece is to be performed without vibrato.   Microintervals:      note raised 1/4 tone          note raised 3/4 tone         note lowered 1/4 tone       note lowered 3/4 tone

Irregular pizzicato tremolo as fast as possible together with a diatonic trill
(all trills are to be played diatonically,unless indicated differently).
Tremolo and trill no need to be synchronized and plucking a muted string is 
also desirable.

Diamond shaped notes when appear alone indicate always half harmonics.
The fingers of the left hand introduce low pressure so that neither a clear 
tone nor a clear harmonic should be heard.

Harmonics are always notated in the following two ways:

Natural harmonic Artificial harmonic

Rectangular shaped notes indicate unusual bow pressure.
In that case the dynamics express the degree of pressure applied starting from a soft , wishpering noise
and going up to a scratching sound without producing any audible pitch.

Percussion: Two cello bows and two kinds of mallets (soft and hard) will be needed.

This kind of notation indicates an irregular tremolo; however, an accelerando 
is required towards the end.
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    >
     > 
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Turmoil II
for Strings,Percussion and Tape
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





         

  

         
     





    
> 



       

3 3

  > 





  3




      

      

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







Vln. I

Vln. II

Vla.

Vc.

Cb.

Vib.

   
   
   
   

   
   


3 






   
3

q = 60 

arco







     
   

3   


arco







   3

 
 











Vln. I

Vln. II

Vla.

Vc.

Cb.

Vib.





   3

  
3  

 
3







   3

   
3

  >






   
   

3

  





    
  







 
 

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






























Vln. I

Vln. II

Vla.

Vc.

Vc.

Vc.

Cb.

Cb.

Vib.

TP





   











8

8

8

8

8

8

8

8

8

4





    
    
    
   

3

   
3



arco

arco

arco















     
3

     3

     3

 

 
  

3










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











Vln. I

Vln. II

Vla.

Vc.

Vc.

Vc.

Cb.

Cb.

Vib.

TP




    
     
     
     
   

3

   
  



arco















   >    
3

   
   
   
 
  
  


















     3

    

3

     3

   
   
   

11















Vln. I

Vln. II

Vla.

Vc.

Vc.

Vc.

Cb.

Cb.

Vib.

TP




 >
     

     

     
 






 > 
3

  > 
  > 
  > 
  > 
    > 



12















Vln. I

Vln. II

Vla.

Vc.

Vc.

Vc.

Cb.

Cb.

Vib.

TP




      
     

3

     
3

     3

     
   






   
     
    
    
     
    

























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














Vln. IVln.

Vln. IIVln.

Vla.

Vla.

Vc.

Vc.

Vc.

Cb.

Cb.

Vib.

TP






























 
 





















q = 120 

5

         > 
5

           >
5

3

          >
 3

3

 >   >  
  > > >

3

 
 





        > 

  
>  >

3
3

pizz.





pizz.

pizz.

pizz.








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














Vln. IVln.

Vln. IIVln.

Vla.

Vla.

Vc.

Vc.

Vc.

Cb.

Cb.

Vib.

TP

  >      

     >     3

    >       
  3 3

       
  3










>   >  



subito 

subito 


































 
 







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







































Vln. IVln.

Vln. IIVln.

Vla.

Vla.

Vc.

Vc.

Vc.

Cb.

Cb.

Vib.

TP

          >  3

 >          
    >     
   >       >

3








>       


3 3



pizz.

pizz.

pizz.

pizz.


















  
>    

  
>      > 

3

           >


       >









  >     >  

3

subito 

subito 

subito 

subito 

subito 

subito 

subito 
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
































































Vln. IVln.

Vln. IIVln.

Vla.

Vla.

Vc.

Vc.

Vc.

Cb.

Cb.

Vib.

TP

4

4

4

4

4

4

4

4

4

4

4

4

q = 60 

6

  
  
  
  
 
 

 
 
 
 
 




























arco

arco

arco

arco

q = 120 

  
 
 
 
 
 

  

  

  
  
  

























 
 
 
 
  

  
  
  
  
  
  












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







































Vln. IVln.

Vln. IIVln.

Vla.

Vla.

Vc.

Vc.

Vc.

Cb.

Cb.

Vib.

TP




 
 
 
 
  >        3

      >    3
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             >   >  >
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 
 
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       
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
 >     


  > 
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
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   
   
   











arco

arco

arco





























19


















Vln. IVln.

Vln. IIVln.

Vla.

Vla.

Vc.

Vc.

Vc.

Cb.

Cb.

Vib.

TP



      
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           
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
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                
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5 10
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                    

 
10
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          5 5
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       
>  7

                
> 5 10


            5 5

        
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               
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        
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5
10







   

pizz.

arco

pizz.

pizz.

sautille
arco

pizz.

sautille
arco

26












































Vln. IVln.

Vln. IIVln.

Vla.

Vla.

Vc.

Vc.

Vc.

Cb.

Cb.

Vib.

TP

        
               


                         
                         

                               
5

       
  7

       
  7

         
>                        

5

10

         
 >                        

5
10

         
 >                        

5 10





pizz.

sautille arco

pizz.

pizz.

pizz.

sautille arco

sautille arco
pizz.

arco

arco

arco

arco

27















Vln. IVln.

Vln. IIVln.

Vla.

Vla.

Vc.

Vc.

Vc.

Cb.

Cb.

              
               

               


                                               
                                               
                                               

                                        
7 7 7 7 7 7

                                        
7 7 7 7 7 7

                                                     
10 10 10

                                                     
10 10 10

                                                     
10 10 10

                             
5

5

5

5
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5
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sautille

arco
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











Vln. IVln.

Vln. IIVln.

Vla.

Vla.

Vc.

Vc.

Vc.

Cb.

Cb.

>   
>   
>   
>   

>
  


>
  

>   
>   
>   
>   �

>  

pizz.

pizz.

pizz.

pizz.

pizz.

pizz.

pizz.

pizz.

pizz.

pizz.

pizz.

arco

arco

arco

arco

arco









 � �


� � �


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

Vln. IVln.

Vln. IIVln.
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Vc.

Vc.

Vc.

Cb.

Cb.
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






 �
� � 












� � 





4

4

4

4

4

4

4

4

4

4

4

q = 60 

7














q = 100 





































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
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

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� � 

 









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



















>      >

   >  > >  
3

   >  >
 

      >
3

 
>   >

  
     

 
 
 
 
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pizz.

pizz.

pizz.

pizz.

pizz.























     >   >
3

        >
3

       >
3

>       >    >

    >   
>

     
>    >

  
  

  
  
  










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
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

 

>


 

>


  
  
  




  
  






















arco

arco

arco

arco

arco

arco

  >
  >

 

>



 
>


 

>

 

>

 
 

 
 
 

  >
  >

 

>


 

>


 

>


 

>

 >
 >


 >
 >
 >
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(      )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     )

(     ) 

(     )







































Vln. IVln.

Vln. IIVln.

Vla.

Vla.

Vc.

Vc.

Vc.

Cb.

Cb.

TP

5

5

5

5

5

5

5

5

5

5

5

q = 60 

8





































q = 50 























































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(46")

*All strings behind the bridge


